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appearance  sound class
normal quiet good
normal quiet good
deformed  quiet bad
deformed  loud bad
normal quiet bad
deformed  guiet good
normal quiet good
normal quiet good
normal loud bad
normal loud bad
normal loud bad
deformed  quiet bad
normal loud good
normal quiet good
normal quiet good

normal quiet good
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nsing ﬂaw' lrle y aSiumirey decloghrclnce of artwes

plale )= P (nLlc) = P(e) /F(NM
= P(ule)x P(Lle)x PQ) | plvy)

pBIv Y= P(NLIG) = PR) /F(NM
= PR« P(LIR)x PB) | plne)
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b)  pob Bt wmml Lok waigpt 3 Lot = FBING =039
o) frer pabs — P4 PU&)
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